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freq a; 0O
snpl 1989:1 1998:1 ; 0O

load tenmp ; O
27.1 28.6 25.5 27.0 24.8 28.9 29.4 26.0 27.0 27.2

ioad beer ;
601 648 617 614 578 666 697 590 591 559

olsq beer c temp ; O
end ;
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PROGRAM

L I NE R R Rk o R Rk o R R R o R R R o R R R S R R R R R R R R S R R R SR R R R R R R R R S R R R R R R R R R R R Rk R

1 freq a;
| 2 smpl 1989:1 1998:1 ;
| 3 load temp ;
| 3 27.128.6 25.5 27.0 24.8 28.9 29.4 26.0 27.0 27.2
| 3
| 4 load beer ;
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| 4 601 648 617 614 578 666 697 590 591 559
| 4 ;
| 5 olsq beer c temp ;
| 6 end ;
EXECUTION

ReE R R R o o R R R e R R A R R R R R Rk S e R R R e R R R R R R S R R R R R R R R R R R R AR R R R R R R R R R S R o

Current sample: 1989 to 1998

Equation 1

Method of estimation = Ordinary Least Squares

Dependent variable: BEER
Current sample: 1989 to 1998
Number of observations: 10

616.100 LM het. test
42.5688 Durbin-Watson
6745.24 Jarque-Bera test
843.155 Ramsey®"s RESET2
29.0371 F (zero slopes)

.211973E-02 [.963]
.923392 [.006,.061]
.853732 [.653]
7.21864 [.031]
11.3427 [.010]

Mean of dep. var.

Std. dev. of dep. var.
Sum of squared residuals
Variance of residuals
Std. error of regression

R-squared = .586407 Schwarz B.1.C. = 49.0620
Adjusted R-squared = .534708 Log likelihood = -46.7594
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 20.0861 177.207 .113348 [-913]
TEMP 21.9526 6.51821 3.36789 [.010]

BRSO R A R R R R R R S Rk S e R R R e R R R R R S R R R R R R R R R U R R AR R R R R R R R R R S R e

END OF OUTPUT.

MEMORY USAGE:  ITEM:  DATA ARRAY TOTAL MEMORY

UNITS: (4-BYTE WORDS) (MEGABYTES)
MEMORY ALLOCATED : 500000 4.0
MEMORY ACTUALLY REQUIRED : 380 2.1
CURRENT VARIABLE STORAGE : 260
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